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QUESTION 1

What statement about stateful ACL entries is FALSE? 

A. They can track both TCP and UDP flows. 

B. They can be created in either ingress or egress directions. 

C. A packet in the direction of the stateful ACL rules will automatically create a “related” rule in the reverse direction. 

D. The automatically created rules will not go away until the ACL is manually deactivated and reactivated. 

Correct Answer: D 

 

 

QUESTION 2

On which Kubernetes node is the Nuage-kube-mon component installed? 

A. On the worker node. 

B. On the master node. 

C. On the network node. 

D. On a dedicated gateway node. 

Correct Answer: A 

 

QUESTION 3

What mapping is FALSE? 

A. CMS – Management plane 

B. VSD – Management plane 

C. VSC – Control plane 

D. VRS – Control plane 

Correct Answer: A 

Reference: https://docs.oracle.com/en-us/iaas/Content/Resources/Assets/whitepapers/sdn-integration-with-
nuagenetworks.pdf 

 

QUESTION 4
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What statement about traditional datacenter network architecture is TRUE? 

A. It adopts a 3-tier hierarchical topology. 

B. Layer 3 termination is at the access layer. 

C. The top-of-rack switch runs MPLS VPLS services. 

D. It meets the requirements triggered by cloud computing and virtualization. 

Correct Answer: B 

Reference: https://www.cisco.com/c/en/us/td/docs/solutions/Enterprise/Data_Center/DC_Infra2_5/
DCI_SRND_2_5a_book/DCInfra_2a.html 

 

QUESTION 5

What statement regarding Openflow sessions in data center networks is TRUE? 

A. By default, the Openflow session is established with TCP port 6633. 

B. Openflow sessions run between VSCs. 

C. Security in mandatory with SSL encryption. 

D. Openflow sessions can be established over either the data plane or the management plane. 

Correct Answer: C 

SSL (Secure Sockets Layer) is the standard security. 
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